COP 3223 Section 3 Exam #1

Form A

Spring 2011

2/17/11

Lecturer: Arup Guha

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. Hand in ONLY the scantron, keep the test questions, and take the free response section of the exam.

1) Which function in C displays information to the screen?

A)print

B)printf

C)println

D)DISPLAY

E)None of the Above

2) Which of the following lines of code in C properly reads in an integer

into the variable num? (Assume num has already been declared.)
A)scanf(num);

B)scanf(num, "%d");

C)scanf("%d", &num)

D)scanf("%d\n", num);

E)None of the Above

3) Which of the following can be used to define a constant in C?

A)#define

B)CONSTANT

C)PI

D)final

E)None of the Above

4) Which of the following is a reason to include comments in your code?

A)They help it run faster.

B)Mathematical operations only work correct when the code is commented.

C)They make the code look very pretty.

D)Without them, the random number generator doesn't work.

E)None of the Above

5) Which of the following is usually the last line of code in a C program?

A)system("PAUSE");

B)i++;

C)printf("Thank you for using this program =)\n");

D)return 42

E)None of the Above

6) What gets printed out by the following segment of code?

int a = 3, b, c;

b = 4*a + 3;

c = (2*b - 5)%8;

printf("a=%d, b=%d, c=%d\n", a, b, c);

A)a=3, b=15, c=1

B)a=3, b=15, c=3

C)a=3, b=24, c=1

D)a=3, b=24, c=3

E)None of the Above

7) What is the value of the variable sum after the following segment

of code executes?

int sum = 0, n = 73;

while (n > 0) {

    sum = sum + n%2;

    n = n/2;

}

A)1

B)2

C)4

D)5

E)None of the Above

8) What does the following code segment print out?

int a=37, b=12;

if (a%b > b%a)

    printf("%d", a+b);

else if (b < a%b)

    printf("%d", a-b);

else if (a%b > (a+11)%b)

    printf("%d", a-2*b);

else

    printf("7");

A)1

B)7

C)25

D)49

E)None of the Above

9) Which of the following expressions is within 0.01 of the value 3?

A)sqrt(27)

B)sqrt(sqrt(81))

C)sqrt(sqrt(sqrt(729)))

D)pow(9,2)

E)None of the Above

10) Which of the following expressions evaluates to a random integer in

between 19 and 99, inclusive?

A)rand()%100

B)rand()%80 + 20

C)rand()%81 + 20

D)rand()%81 + 19

E)None of the Above

11) Which of the following loops is required to execute its body at least

once?

A)if

B)do-while

C)while
D)loop
E)None of the Above

12) What is the output of the following segment of code?

int a = 3, b;

if (a = 2)

    b = 3*a + 7;

else

    b = 2*a - 1;

    a = b + 1;

printf("a=%d, b=%d\n", a, b);

A)a=6, b=5

B)a=2, b=13

C)a=2, b=5

D)a=14, b=13

E)None of the Above

13) What problem is introduced in the following segment of code?

int a=3, b=4;

if (a > b)

    if (a%b > 0)

        printf("A");

else

    printf("B");

A)matching-else problem

B)infinite loop

C)uninitialized variables

D)syntax error

E)None of the Above

14) Which of the following expressions is true if and only if the 

variable year stores a leap year?

A)year%4 == 0

B)year%4 == 0 && year%100 != 0

C)year%100 != 0

D)((year%4 == 0) && (year%100 != 0 || year%400 == 0))

E)None of the Above

15) What is the value of the variable sum at the end of the following

segment of code?

int sum=0;

int i;

for (i=0; i<10; i++)

    if (i%3 == 0 || i%5 == 0)

        sum += i;

A)15

B)18

C)23

D)33

E)None of the Above

16) What is the purpose of the code segment below?

double val = 1;

while (val*val < 2)

    val = val + 0.000001;

printf("Answer is %lf\n", val);

A)To find the an approximate value for the square root of 2.

B)To loop 1000000 times.

C)To add every number from 1 to 2.

D)To solve the four color problem.

E)None of the Above

17) A beginning programmer has made the following mistake in part

of their if statement:

       if (3.0 <= gpa <= 3.5)

Which of the following choices corrects the code to what the

programmer most likely intended?

A)if (gpa <= 3.0 && gpa >= 3.5)

B)if (gpa <= 3.0 || gpa >= 3.5)

C)if (gpa >= 3.0 && gpa <= 3.5)

D)if (gpa >= 3.0 && gpa >= 3.5)

E)None of the Above

18) What is the purpose of the following segment of code?

int n;

printf("enter a positive integer.\n");

scanf("%d", &n);

int index, sum = 0;

for (index=1; index<=n; index++)

    if (n%index == 0)

        sum += index;

printf("value is %d\n", sum);

A)Print out the number of factors of n, entered by the user.

B)Print out the sum of the factors of n, entered by the user.

C)To add up all of the indexes.

D)To loop many times.

E)None of the Above

19) What would happen if the following segment of code were executed?

int n = 10;

int i = 0;

while (i < n) {

    printf("Hello World!\n");

    if (i > n)

        i++;

}

A)It would print out "Hello World!" 10 times and stop.

B)It would print out "Hello World!" in an infinite loop.

C)It would never print out "Hello World!"

D)It would change the value of i to 10.

E)None of the Above
20) The IBM Computer that just defeated Ken Jennings and Brad Rutter is named after IBM founder Thomas Watson. What is the name of the computer?

A) Watson
B) Crick
C) R2D2
D) Johnny Five
E) WALL-E
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1) (10 pts) Sally is selling Girl Scout cookies. Her two favorite flavors are Peanut Butter Patties and Thin Mints so she has decided to specialize in only selling those two types of cookies. Thin Mints cost $3/box and Peanut Butter Patties cost $4/box. Complete the program below that asks the user how many boxes of each type of cookie he/she wants to buy and calculates the total cost of the order.

#include <stdio.h>

int main() {

    int num_tm, num_pbp;

    printf(“How many boxes of thin mints do you want?\n”);

    printf(“How many boxes of PB patties do you want?\n”);

    printf(“Your order costs          .\n”,             );

    return 0;

}

2) (10 pts) Write a segment of code that generates 30 random integers in between 100 and 200, inclusive and prints each of them out. You may assume that the random number generator has already been seeded and all necessary includes have been done.

3) (10 pts) You’re working for a cell phone company that’s coming up with a new text message pricing policy. They would like for you to come up with a program to execute their new policy. In particular, the first 500 text messages sent during the month cost 3 cents a piece, the next 500 text messages during the month cost 2 cents a piece and all subsequence messages in the month cost 1 cent a piece. Complete the program below so that it prints out the texting cost for a month given the total number of text messages for the month.  

#include <stdio.h>

int main() {

    int num_msg;

    printf(“How many text messages did you send?\n”);

    return 0;

}

4) (10 pts) What is the output of the following segment of code?

int n = 824;

while (n > 0) {

    printf(“%d  ”, n%2);

    n = n/2);

}

_________________________________________________________
